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MATHEMATICS
Seconp PAPER
(Differential Equations)
Time Allowed : Three Hours Maximum Marks : 66 For Arts
50 For Science
Answers of all the questions (short answer as well as descriptive) are o be given
in the main answer-book only. Answers of short answer type questions must be
given in sequential order. Similarlv all the parts of one question of descriptive
part should be answered at one place in the answer-book. One complete question
should not be answered at different places in the answer-book. Write your roll
number on question paper before start writing answers of questions.
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Attempt five questions in all, selecting one question
from each Unit. All questions carry equal marks.
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UNIT-I/ g%1E-1
. {a) (i) Find the order and the degree of the following differential equation:
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x+ypt +{14xp) p=10
By substituting yz—m solve the equation:
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Solve:
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(x:’—4x]‘f—;§+[9x1—12]%+13x%+6}'=D
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Show that the solution of the initial value problem. o -.‘I':Jf;,Jr( }=0
may not be unique although /(x,y)= |yl is continuous.
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UNIT-IV (3%1E-1V)
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Solve by the method of variation of parameters:
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UNIT-V (3&18 V)
Solve: .
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p+3g=3z+tan(y — 3x)

Solve the following equation by charpit's method:
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r+s— 6=y cosx
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